
Worksheet  

Contractions 
 

Q.1. Use an apostrophe to combine the words. 
(i) does not _________ 
Ans. doesn’t 
 
(ii) we will _________ 
Ans. we’ll 
 
(iii) he is _________ 
Ans. he’s 
 
(iv) do not _________ 
Ans. don’t 
 
(v) we are _________ 
Ans. we’re 
 
(vi) should have _________ 
Ans. should’ve 
 
(vii) it will _________ 
Ans. it’ll 
 
(viii) is not _________ 
Ans. isn’t 
 
(ix) have not _________ 
Ans. haven’t  
 
(x) you are _________ 
Ans. you’re 
 
Q.2. Remove the apostrophe and write the full words. 
(i) must’ve _________ 
Ans. must have 
 
(ii) we’re _________ 
Ans. we are 



(iii) would’ve _________ 
Ans. would have 
 
(iv) you’d _________ 
Ans. You would / you had 
 
(v) what’s _________ 
Ans. what is 
 
(vi) haven’t _________ 
Ans. have not 
 
(vii) there’re _________ 
Ans. there are 
 
(viii) mustn’t _________ 
Ans. must not 
 
(ix) couldn’t _________ 
Ans. could not 
 
(x) don’t _________ 
Ans. do not 
 


